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43a) Consider the following C-program.
void testfun(int *a, int b)
by {

int x=2;

static int y=>5;

y=y+b;

X=X+Y;

*a=x+y+b;
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b=b+ *a;
}
int main()
{
int a=10,b=5,c=20,*x;
X=&a;
testfun(x,b);
printf(*%d %d %d %d\n”, a%k =
testfun(x,c); ¢, s -—— 1

printf(“%d %d %d %d\n”,a:b,‘" *x):
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4, Consider the following program:
void funtest(int *a, int *b)
{
static int i=10;
int j=5;
j=ita;
i=it+b;
*a=i,
*b—J,
}

int main()
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{

int i=20,j=30, *Xx, *y;

X=&i;

y=&j;

funtest(x,y);

printf(*%d %d %d %d\n”,i,j,*x,*y);
funtest(x,y);

printf(“%d %d %d %d\n",i,j,%r =
} s =3 :
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3.a)  Consider the following recursive function

int bbb(int n,int r)

{

printf(“%d %d\n”,n,r);

if (r==0|| n==r)return 1;

else return bbb(n-1,r)+bbb(n-1,r-1);

}

What output is printed for the function call bbb (4,2)? What does the function do?
b) Write a C-program that reads the given n observations at input and computes

average of n observations and find the number of observations above average value.

The input is value of n followed by n observations. [8+7]

of multlpllcat

5 X10 =50 [6+2+7]
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4.a)  Consider the following C- program segment.
char*months[12]={"JANUARY”,”"FEBRAURY”,"MARCH”,”APRIL”,
"MAY”,”JUNE”,”JULY”,”AUGUST”,”SEPTEMBER”,”OCTOBER”,”"NOVEMB
ER”,”"DECEMBER™};
char **a= months;
char **b = a++;

What are the values of the following expressions? Justify your answer.
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3.a) Consider the foIIoM‘_“eftcmctlon
void toh( int n, char src ar inter)— v.- ,_
{ =

if (n>0)

{

toh(n-1, src, inter, dist);

printf(“move %d from %s to %s\n”, n, src,dist);
toh(n-1,inter,dist,src);

}

}
What is the output printed by the above program for the function call toh

(4’1A1,1B1’1C1)?
b)  Write C-function float max(float a[], int n) that returns the maximum value of the first
n positions of array a. [8+7]
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Consider the following C-program segment.
int x[4][4]={{1,2,3,5},{4,5,6,8},{7,8,9,10} };

int **a=x;

int **b=a++;

what are values of the foIIowing C-expressions? Justify your answer.
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